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50 g1 & e greffeies &1 3mgfea & / The frequency of the third harmonic of 50 Hz is:

a) 75Hz

b) 100 Hz
c) 150 Hz
d) 250 Hz

2v, Hs TR & @R & RIER dreear #4782 / What is the peak-to-peak voltage of a 2 Vo Sine
wave?

20V
a) p-p
b) 2.828V
p-p
c) 4.0V

p-p
d) 5.656V
p-p

é\ag?r YRT T JF & / The formula for electrical current is:
a) dleedr/9feRYr / Voltage / Resistance

b) wfeRIY x dleedr / Resistance x Voltage

c) daleedr +9faRYr / Voltage + Resistance

d) ufaRier/aieedr / Resistance / Voltage

STl H SIS &7 0.25uF TR T el FerrdT el 471 § / What is the total effective capacitance of

two 0.25uF capacitors connected in series
a) 1.25uF

b) 0.50 uF

c) 2.50puF

d) 0.125 pF

AR-Ssford TfeRitrer # Y gl arell 3T FHE § / The common material used in wire-wound

resistor is

a) e/ Carbon

b) #HarfAeT / Manganin

c) HIET/Bronze

d) S e & dR / German silver wire

SR STATS T Gad 3178 STAAT 81T & / Zener diodes are most commonly used in
a) dreedr gaties aRaer/ voltage amplifier circuits

b) &iferd aRer/ oscillator circuits

c) Taegd 3myfct 9w / power supply circuits

d) 3?{233?{ HrHATed IR / current limiting circuits

| T oY (sraeifer) - ISR/ Technician B (Electronics) 2016 - IPRC 1
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07 o7 wefda 31Tt &7 Aretetterg SfafaAftica & / The figure shown below is a schematic representation

of
V.. ’\
“l', +

a) Ay yatis / differential amplifier

b) wdrg® 9adie / inverting amplifier

c) 3T9dge 9aeish / noninverting amplifier
d) dleedr 37 / voltage follower

08 9% 3Mehfd & X HT Heg gar s / In the following figure find the value of X

e
Vs @ T 0.005pfd

4
Xe = amic
X . = 31.83KQ

C
When C= 0.005ufd

et BT 3gfedt 1 kHz &, 390 TR e 0.01 pfd 3 Faer STar & dt 9Rerer & enfar sfeere (X ) &
Hed 1 g2 / Ifthe frequency of the source is 1 kHz, what is the value of the capacitive reactance
(XC) of the circuit if the capacitor value is changed to 0.01 ufd?

a) XC =63.6 k

b) XC =31.8k

c) XC= 15.9k

d) XC =50k

09 oot & & &la7 W7 dggeT URT WaTE §7 / Electric current is the flow of which of the following?
a) =ggiel / Neutrons
b) WIerkT/ Photons

) Soeie / Electrons

) FaTh / Quarks

c
d

2 | THARIG Y (gAaeiiereh)) - ITENH / Technician B (Electronics) 2016 - IPRC




10

11

12

13

14

| e afie ssiQuestion Booklet Code | A |

TEIX dieedr & el SR aRuyr &, afe 9farer sgar § o aRT 81 / In a simple DC circuit with a

constant voltage, where the resistance increases current will:
a) "earg/ decrease

b) ¥HdT g/ stop
c) Fedlg/increase
d) 3Rafdd Igar & / remain constant

T Fell # AR §.0A.0h. T IRATVT Foerd AT & IRach $hT T F W s T 53 S

ST g / The Magnitude of the induced emf in a coil is directly proportional to the rate of change of

flux linkages. This is known as
a) S @8 / Joule’s Law

b) W& e R 9R0T T gERT 41 / Faraday’s second law of electromagnetic Induction
c) TS o e e daehry SR0T &1 9gell foiaet / Faraday's first law of electromagnetic Induction
d) Feld f37#7 / Coulomb’s Law

I FAFT T GHS HILAH § eTeld HYeT H HHAT T &7 T FgT el & / The ability of a
material to conduct magnetic flux through it is called

a) faega=ferdr/ Permittivity

b) fdsefFaar / Reluctivity

c) drelshdr / Conductivity

d) deehefierar / Permeability

IR g AT LT & Aok & HI, T HORAT ¥ IRA AT Sr § / The Magnetic field of a
magnetized iron bar when strongly heated
a) HT:-TE(\T—FETTG!‘IF!T%/ Becomes stronger

b) HASR & ST & / Becomes weaker
c) & # 3oie ST & / Reverses in direction
d) 9IRafda §/is unchanged

aRATTerehT & 37eX daehier &7 / The Magnetic field inside a solenoid

a) TS A E/is uniform

b) T &/is zero

c) 3781 & gll & |IY §¢ STl o/ increases with distance from the axis

d) 3787 & I & 1Y e g1 STl § / decreases with distance from the axis

| awtRre Y (sl - IMEdIE / Technician B (Electronics) 2016 - IPRC 3
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15 et & & Toh W GAAGR IRIY HT 387607 &1 / Which of the following is an example of a series-

parallel circuit.

L.
T

WA
"

A 3,
a) l V"'W
+ i
V;L_M %RJ
. ]
V= =R,
c)
+ Eeameaned
V=
R,
5 AW
B
==

a~—

16 fac@Ae TRA] F TAdH TR &

atom

a) ferg# / Helium
b) &gl / Hydrogen
c) &R/ Boron

d) 3feRTSTeT / Oxygen

qATI] & / The simplest type of atom to exist is the

17 orererg 3T & SUET AT ¥/ Flux linkage equals
a) el T IS & &1 / Flux times area of core
b) TFeTeRE [T SIS & U I[AT $hIS T &1 / Flux times number of turns times area of core
c) WFeTSRE T[T IS & B [T IS AT ofdTS / Flux times number of turns times length of core
d) Weld I[AT IS & Y/ Flux times number of turns

4 ‘ THARI & (FAFeif@a) - SENIRE / Technician B (Electronics) 2016 - IPRC
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R & ATeIH ¥ GRS & =1TSieT o7 31917 & / The charging of a capacitor through a resistance
follows

a) TREIdEH =48 / Exponential law
b) SERTUTR fAFH/ Logarithmic law
c) @ AT/ Linear law
d) @9 F=# / Square law

HA741 EihdTcHe Yatie T WFcalwiR CMRR § / The amplifier CMRR of pA741 Operational
Amplifier is
a) 60dB
b) 70dB
c) 90dB
d) 80dB

quT el fesearlY & forw, et 3mgfea / For a full wave rectifier, the output frequency
a) forder amgfca & 38 & sRTeX / Equals one-half the input frequency

b) ©Se 3-117{1??-[ & sRTeX / Equals the line frequency

c) fder e g & SRIeT / Equals two times the input

d) get 3gfed & il [T & SR / Is three times the line frequency

3mer e fsear aRay i sied S dieedr, RIeR f@der dieedr & qe0 & gl / The
averaged dc voltage of a half wave rectifier circuit is of the value of the peak input voltage.

a) 63.6%

b) 31.8%

c) 4.8%

d) 6.2%

THH.IR. A §¢ I $ o, [ea § & Far fFar Sar &2 / To turn off the SCR, which of the
following is done?
a) e dleedr i TeTel =T T / Reduce gate voltage to zero

b) T @I T 31T =TT / Reverse bias the gate
c) HUs Aeedr Sl Hele T =T/ Reduce cathode voltage to zero
d) TS dleedr I Teret = HLT/ Reduce anode voltage to zero

A BT 97T T F T T G S T Gateicd YT &7 / For the signal shown, which of the

following represents its inverted waveform?

mEmEn l
o [T 1Ll
o 1 LU
o 1Lt

o [ LT LT LTI

[aamﬁfaﬁmra‘r (geireifeiehy) - ISR / Technician B (Electronics) 2016 - IPRC ‘ 5
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25

26

27

28

29

30

Ife ARTT 3ae R & A9 &1 TRF fFar arar §, & g ) aRome g« / If a gas in a fixed

volume container is heated, the resultant pressure on the gas:
a) 3r9Rafdd 84T § / remains the same

b) SEaT®/increases

c) Hedarg/decreases

d) SHT § Gesh AT § / is inversely proportional to the heat

qIRE 'a’ dTT Ueh B+ T IS8 8% &1 / Surface area of cube with side ‘a’ is
a) a°

b) 6a

c) 6a’

d) 3a?

o 3 & PleT T 3y fr YT & w7 3 aeffepet e a1am €2 / Which of the following is classified as

battery ratings?

a) dET-37F, aleedr, 9fae / Lead-acid, voltage, resistance

b) VERR-ER, fAera-hsfAu#, e / Ampere-hours, nickel-cadmium, alkaline

c) 3MaR® YRy, aleedr, WEIIR 8¢ / Internal resistance, voltage, ampere-hours

d) ¥R, Faaer, TfHeTor fhfEad & YR / Weight, connections, type of terminal fittings

aretetesll &1 3227 3UATFHAT F fFHFr I gfafafca were & & / The purpose of the
oscilloscope is to provide the user with a graphical representation of:
a) dlecdl d«1H HHT / Voltage vs. Time

b) elT-faTATI F=118 &TRT / Phase shift vs. Capacitance
c) 9feRIY §=11A alecdr / Resistance vs Voltage
d) SRT &= 9T / Current vs. Resistance

Teh qR9Y T e J[oTeh & SR §: / The power factor of a circuit is equal to:
a) (E)(I)cos® ‘
b) cos 6

c) (E)(I)sin®

d) sin6

S 480VAC W fAefiRe Sefifead faega 3usor &1 fasdrest adiafor fhar Sirar &, a« fhe 9o &

ETATeT T 3TaeTHAT gldr &2 / When performing testing of energized electrical equipment rated at
480VAC what type of gloves are required?
a) Ta# dieedr/ Low Voltage

b) 3Td dleedr / High Voltage
c) gdiag TAsT/ Listed Leather
d) el ars=s/fAiRa ara#TeT / Cotton lined/Temperature rated

frafoi@a # fr sisw WEREE fafafRal F fharaad & & o ame ddr s, & seaare
oI ST 8 / Al of the following are common PPE used to perform maintenance activities except:

a) &I =RAT/ Safety Glasses

b) &¥drt/ Gloves

c) SIX T4l Ear Plugs

d) Wﬁf/ Work Permits

\ TR oY (i) - ATSNIMRHT / Technician B (Electronics) 2016 - IPRC
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31 31ehfal # feamy a1w Reer Fueh §: / The relay contacts shown in the figure are:

.._......-—/:'1
2 -

a) Uehol-Sdl, &fa-a19 / Single — pole, double — throw
b) Tehel-¢d, Tehel-&17 / Single — pole, single — throw
c) &fa-¢d, gfa-879/ Double — pole, double — throw

d) efd-gd, Tshel-819 / Double — pole, single — throw

32 R@w 9T st i YR F, IR.TA. F HR-GR F A F T TwT &/ In the power supply

shown, the wave form of the output across RL is:

e —

o, I v
g el -
- L S 1 i *

i ) - ]

, — - -f.’ | -y = ‘ ‘g

a)-

b)

’ P N

d)

L e
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33

34

35

36

37

FATET SheloT &7 S1&T0T &1 £7 / What are the characteristics of a coaxial cable?
a) 3HH 9RRaTs & | sArafld J7A B / It has twisted pairs with a shield
b) $HE e F ATeleh § it faega-Weh & 3maRd &, §1e H [ A1 31 STy ITersh T &g, # qere| /

It has a center conductor covered with an insulator, then braided or solid outer conductor and
then insulation

c) 3TRcH el ST Joioll 7 HH AR AL &1/ It has heavier insulation than most cables
d) 4§ 3% 3Nghea & eafasor & goeg &1/ Itis vulnerable to high frequency interference

57 IR & 9T R S arelr fEI9T @7 9K / The type of spring used in this solenoid is:

a) Y8R/ expansion
b) FZ/ torsion

) ddrd / tension
)

Fdi==T / compression

c
d

ToT..3). & 31T §2 / What does LED stand for?
a) TSI 3cdeid UGeT / Light Emitting Display
) o1 FoT 92T/ Low Energy Display
c) YhILT 3T 3TAE / Light Emitting Diode
) SeRIRT 3cHoteh HEEe / Light Emitting Detector

3 iTaEe & dieT el IR & AT § / Name the three leads of a common transistor
a) Hamge AT 37fHET / Collector Bias Omitter

b) 3TYR HaTgeh ¥ / Base Collector Case

c) 3cHoish aTgs AfRATT / Emitter Collector Bias

d) TAEH 3TUR 3c8oish / Collector Base Emitter

T Il & HUMcHS T TATcHS ol oI5 ¥ Si1gal T 3cUTET g9 / Connecting a lead from the negative
to the positive of a battery will produce:
a) . 3=g ufarieg aR9er / A high resistance circuit

b) oEg9A /A short circuit
c) o= 9RT 92/ A low current path
d) 3T YRT 9/ A high current path

| o d (geweifore) - At/ Technician B (Electronics) 2016 - IPRC
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ST H e, &F FTeRTErehl T T@M AT, o 3ifc# TTRTEr 8: / If two resistors are placed in series, is the
final resistance:

a) 3Tddl/ Higher

b) feFTcaX / Lower

c) YA/ The same

d) fiRa =g} f&Far ST Iehar / Cannot be determined

aleT AT TR T "HA" Hed w161 o2 / Which is not a "common” value of resistance:
a) 2k7

b) 1M8

c) 330R

d) 4kd

e UIRAT & Teh BIE Hod I Ueh 93 Hod W FANACR H SIST STl &, @l Sgerd € gram: / If a small
value of capacitance is connected in parallel with a large value, the combined capacitance will be:
a) YHIA / The same

b) faFTaX/ Lower
c) 3=gdl/ Higher
d) feaiRa sEf fFar ST @ar / Cannot be determined

FTel W1 # fe@me 77w wfaRrerss i #gd §: / The resistor identified in black is called the:

a) 3MYR A’fA=TT ufokiye / Base Bias Resistor

b) 3cHeish YaAfaraer FfcRIue / Emitter Feedback Resistor
c) 39HR 9faite / Bypass Resistor

d) 9faRiees dlg / Load Resistor

ATeT-ATel-oATel-E0T {37 3 & GfeRItre 1 7o §: / A resistor with colour bands: red-red-red-gold, has

the value:

a) 22k 5%
b) 2k2 5%
c) 220R 5%
d) 22R 5%

| TFHANATA oY (gl - ITENIIH / Technician B (Electronics) 2016 - IPRC 9
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43

44

45

46

47

3T # gTT 97T IRYY T el §: / The Circuit shown in the figure is called:

a) AT TR / Common Base

b) HHT HITEH / Common Collector
c) IHAT 38w / Common Emitter
d) 3cHsteh 39T / Emitter Follower

3Thf H =R Welieh g2/ The four symbols in the figure are:

100N 10u
o (l[) El 2~

a) HuTRA, g1« ufcRiersh, faegd 319eesi / Capacitor, Piezo, Resistor, Electrolytic
b) T 3TEEHT, ATFHIBIA, TeRIL, FRA / Electrolytic, Microphone, Resistor, Capacitor
c) Taegd 3rqees, Fsell, iRy, TR / Electrolytic, Coil, Resistor, Capacitor

d) FUTRE, HghidE, iR, fdegd 3m™ee-dr / Capacitor, Microphone, Potentiometer,
Electrolytic

)
)
)
)

A3 FHTIE/ACROIs a

a) s fFRor @ferT / Cathode Ray Oscillator

b) &ts faRuT alesicelt / Cathode Ray Oscilloscope

c) TYTRF- YfaRIere giferd / Capacitor-Resistor Oscillator
d) FurRa- gfaiere @97 / Capacitor-Resistor Output

FFIA FaT T & v, g [Aearg &1 staaATd far S1dar §? / For highest power gain, what

configuration is used?
a) CC

b) CB
c) CE

d) CS

ST Yot &l AT ¥ & / When amplifiers are cascaded

a) Fcdsh TETRIHIIR & o1sT A gf €S & / The gain of each amplifier is increased
b) T & Alecal T IRt & 3TaRTeHaT & / A lower supply voltage is required
c) FHT AN gé &/ The overall gain is increased

d) YA TFIelIHIAT sl Fd A =1l & / Each amplifier has to work less

\ THANRIET & (FAFEiaa) - ITENIH / Technician B (Electronics) 2016 - IPRC
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48 frg w3 997 A yatiet & SEQATS 81aT £/ Class C amplifiers are used as
a) 3IR.UW. ya4e / RF amplifiers
b) T.UW. yaeier / AF amplifiers
c) OIC Thd YaY / Small signal amplifiers
d) 3MS.U%. yatier / IF amplifiers

49 3itqere #F are € 9fae &7 9T 81T &1/ The push-pull circuit use _ operation.
a) I T/Class A
b) FI &Y/ Class B
c) AT/ Class C
d) @I T/ Class AB

50 ez yatiet 7 3 At R AR e T FT R ST §, iR SRAwER geeT et S §
Power amplifiers generally use transformer coupling because transformer coupling provides
a) 99 &1 efdelsT / Cooling of the circuit

b) fawqor Ifga fasTa / Distortion less output
c) 3cdH HIE[%-TH?;TW/ Good frequency response
d) JfdeTeT gAere / Impedance matching

ST weh olis &7 WS TraeIBRIT & Yicarer & A T =1fe, aifd / The Impedance of a.load must

match with the impedance of the amplifier so that

a) I3 T AfAehcTe Taege IeRoT fer ST & / Maximum power is transferred to the load
b) foIFeT TR IR &TAT §1TT IWT =TT &eh / The efficiency can be maintained at low level

c) T9eTel-3a 31equrel 31f8ehcTd 81 / The signal-to-noise ratio is maximized

d) S FY ~YeAdH fae IcR0T AT ST &h / Minimum power is transferred to the load

52 ol eeh Tl HSell AT T SESATS T ST Thell & / Permanent magnet moving coil instrument
can be used in

a) % Srdr & srT A/ DC work only

b) &% T.d. & &I & / AC work only

c) alAr &Y. T T & H1F #/ Both DC and AC work

d) FarZraE. & FT T T F H F/ Neither DC nor AC work

53 frfafla 7 @ #la a1 dq 8. 9fae F Aar §2 / Which of the following bridge measures DC

resistance?

a) HeFHI AT/ Maxwell bride

b) &% @/ Hay bridge

c) EreEer #d / Wheatstone bridge
d) eMReT @/ Schering bridge

54w qRUY, S 3T A T Scures Far §, 59 58 Faf {33 3= @/ A Circuit which produce a
high output when all its inputs are high are
a) HIIR I/ OR gate

" b) TwuEdE/AND gate
c) dAle e/ NOT gate
d) =83/ NAND gate
| AT oY (ForFeiAd) - IENHRH / Technician B (Electronics) 2016 - IPRC Lll
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55

56

57

58

59

60

A.A.va. & v difeis 1 &1 TS decar WT § / An acceptable voltage range of a logic 1 for TTL
is ,

a) 2tobV

b) 0to0.8V

c) Oto1.5V

d) 35t05V

YR & # geft siwariordT TfsRar gar § / All arithmetic operations take place in the
of a computer

a) HIUNY, (FERT ThIOT Teheh)/CPU

b) e (¥ T FHA/ROM

) HATSHIMEE / Microprocessor

d) wuay, FRyARe difee gfe)/ALU

2]

o T ool foreet 3ifae Tera-trelld & 391\ & g2 fera-trelly o foaer & Sfs7 & / A shift
register in which the output of the last flip-flop is connected to the input of the first flip-flop
a) e 10T / Ripple counter ’

b) ZaTae 10T / Parallel counter
c) Rarafora/ Ring counter
d) T3 1fo / BCD counter

gt T ket hr AoM, S Tafafése Tt 2o o oo e 1 92T a2 fo@ar 3R 9gar §/ Class
of mass memory devices that use a laser beam to write and read on to a specified coated disk

a) Yol ¥/ Mass storage

b) IR.T.UH./RAM

c) 3ifiesher 8% TR / Optical disk memory

d) 3rfaRremmer €A / Non-volatile memory

T IS, S IJegehiiae Ted F FHIR 31T HifE & 3R 58 Aolid # T T a1 8 / An
IC that transforms parallel data to serial in the asynchronous format and vice versa

a) UART

b) USART

c) MODEM

d) RS232C

FHOfEaT & &1F # 916 Hurgen! 3R B &1 ST ST & / Text editors and formatters belong to the

area of computing known as

a) @A / Software

b) HeheleAshal / Compilers

c) 'Hﬂﬁ'ﬂﬁ‘r/Assemblers

d) 2rsg YshHUT/ Word processing

Area for Rough Work
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